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Answer1l
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Solve 3x’—4x-2=0
Give your solutions correct to 3 significant figures.
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Answer 2
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Solve the equation  3x*+4x—12=10
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Answer 3

2_x_1=
e A . Qure At c foemol A
Give your solutions correct to 2 decimal places. —_—
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Answer 4

Solve x>—5x+3=0

Give your solutions correct to 3 significant figures.
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Answer5

Solve 3x*+2x-7=0

Give your solutions correct to 3 significant figures.
Show your working clearly.

Quadratic formula
=b 'l_'-x B-baC . goct4bx =0
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Answer 6

Solve 3x*-5x-1=0
Give your solutions correct to 3 significant figures.
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Answer?7

[

Solve 3x*+6x—-2=0
Give your solutions correct to 2 decimal places.
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Answer 8

Solve 2x2+3x—-7=0

: : : QUMRAT C foemot A
Give your solutions correct'to 2 decimal places.
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Answer 9

The diagram shows a trapezium.

x—4
] 7 Diagram NOT
accurately drawn
b= 2
1 >
x+5

All the measurements are in centimetres. ( ZH Pe < WA
The area of the trapezium is 351 cm?.
a) Show that 22 +x— 351 =0 v SA }(
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Answer 10

Alison is using the quadratic formula to solve a quadratic equation.
She substitutes values into the formula and correctly gets

-7+ 49 — 32
4

Work out the quadratic equation that Alison is solving.
Give your answer in the form ax’+ bx + ¢ = 0, where a, b and ¢ are integers.
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Answer1l
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Give your solutions correct to 3 significant figures.
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Answer 12

(b) Solve x*+90x — 1200=0
Find the value of x correct to 3 significant figures.

Y =-bt W&C\C

Pk
X = o2 ml?mi\\@)

Z

X = -G53 Wfﬁq PoSilne voon

— =N766..

—_—

For more information please visit https.//www.exampaperspractice.co.uk


https://www.exampaperspractice.co.uk

;=

EXAM PAPERS PRACTICE

Answer13

(b) Solve 4x>+9x—47=0

Show your working clearly.
Give your solutions correct to 3 significant figures.

Using the quadratic formula

—b-“-JE -4ac = x, where ax +bx +c = 0

2a
-9+ 181 -4(4)(-47) =
2(4)
9t[833 =2.480r-4.73

8 2.48 or-4.73
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Answer 14

(b) Work out the value of x.
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Answer15

(a) Solve 2+ 9% —-7=0

Give your solutions correct to 3 significant figures.
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